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Class:9th

Test:Chemistry

Attempt ......... questions

! A bond pair in covalent molecule usually has:

a. One electron b. three electron

c. Four electron d. Two electrons

2 The covalent bond present in C,H, are:
a.l b.3
c.4 d.5

3 Which pair has single covalent bond?
a.CH, and CH, b. CH, and CH,Cl
c.CH, and C,H d. CH, and CO,

* The noble gas which does not have eight
electrons in valence shell is:
a. He b. Ne

c. Ar d. Xe
> The boiling point of sodium chloride is:

a. 1413°C b.1513°C
c.1613°C d. 1713°C

6 Which type of force is present in hydrogen bondifg?

a. Intermolecular force b. lonic force
d. Metallic force
7 Atoms react with each other becauses:

c. Covalent force

a. They attract each other.

b. They are short of electrons.
c. They want to attain stability:
d. They want to disperse.

8 Which one of the following is an electron

deficient molecule:
a. NH, b. BF,
c.N, d. O,
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